
4X is hard!! 

 

1.The simplist is just wait until the 3 stoch are all going in the same way 

2. pip room . this is where it gets a little tricky 

you can have all 3 stochs going the right way but be in a chop in other words flat market 

..no trend no direction so as a filter do handle this I use 50EMA (& 20SMA) I want them 

no be on the wrong side of price .. this is so the trend has some where to go. 

 

If you just use the 50EMA you will have fewer trade but will win almost alway! the 

20SMA is the middle of the B. Band & is a great second piproom meter for strong trends 

& flater markets .. but not as good or faithful as the 50EMA and you do not have as much 

piproom with it ... & you don't need to use it . 

 

that is really all you need to know about getting in. 


